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1D pull distribution
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1D pull distribution

diff_bpm4eY (nm)
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1D pull distribution
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diff_bpm11lY RMS (um)
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1D pull distribution

Mean

Std Dev
Underflow

Overflow

2.817e-11/0

X2/ ndf

66.41+ 138.65

Constant

0.4494 + 0.7197

Mean

0.2514 + 1.2598

Sigma
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g_bpm4eX RMS (ppm)

corr_us_av
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1D pull distribution
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g_bpm4aY RMS (ppm)
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g_bpm1X RMS (ppm)

corr_us_av
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g_bpmlY RMS (ppm)
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1D pull distribution

Mean  -0.01401+0.1213

i ] Std Dev  0.8665 + 0.08579
181
r Underflow 0
16 Overflow 0
[ X2/ ndf 6.982/6
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i Constant 17.7+3.9
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